AP R RENFET 5 (RI5) B 5 B #

SI5E3ATH (kEER)
Fx ENSEfashE: 2265 b

(B ILHEREST)
BE ox e HIFE R (ko) 1 #Y3E Xt ERE |
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 10,380
130100|7 W A ®s 7,450 0 6,650 10 1,296 432
13010072V A RI& 1,440 0 1,440 12 1,296
130340 ICA LA e 4,940
130340 ICA LA & 540 0 5401 10 1,782
130340 ICA LA hy= 480 0 480 10 2,398
130340 ICA LA Ri& 500 0 500/ 10 2,430 1,512
130340 ICA LA BEAR 900 0 900| 10 2,030
130340 ICA LA BERE 2,370 0 2,370 10 2,074 1,274
130400| 1% 5 HE 5,156
13040021 5 Fix 4,700 0 4,700 10 1,566 864
1304001 5 Ik 110 0 110f 10 3,564
13040021 5 FE 300 300 10 1,296
130500|7z\F > & 1 28
130500(7 7> BERE 16 16 2 5,400 3,888
130500|7z1F > & FE 12 12 2 4,428
130600|1LA Z A [y 3,478
130600{1 A T A = 1,770 0 1,770 5 3,780 1,080
131100|H 3 [y 10,876
131100{A 3 & 2,566 2,566| 15 1,728 756
131100 B3 i 1Ly 2,790 2,790 15 1,307
131100{A 3 Ri& 5,100 5,100 15 1,728 1,188
131700|F v+ R [y 59,494
131700(%F v~ =45 13,420 0| 12,010 10 1,188 648




131700(F v~y BE 44,074 31,244 10 975 670
131700|F v <Y FOFRL 2,000 1,800 10 1,080 864
131800]IF > A E ¥ 2,595

131800(Ix > NAE 5 25 0 25 0.2 140
131800]IF > A E EE 802 521 281 0.2 108 54 104 32
131800(Ix > NMAE BE 500 496 4 2,808 1,512
131800]IF > A E EiE 4 4 0.1 32

131800(Ix > NAE =1 1,080 1,080 0.18 86
131910(Fh & ¥ 1,529

131910|F R & KER 19 0 19] 0.045 63 62
131910(Fh & BE 87 0 84 3.5 1,836

131910|F R & i 1L 435 100 335 1 378 972 324
131910(Fh & &I 678 0 678 10 2,916 2,430
131910|F R & FIE 185 0 170 5 4,320 1,620
131950(BA & ¥ 3,597

131950|H A& SR 1,560 0 1,335 3 1,404 540
133400|L % & ¥ 13,990

133400 L % X B/ 500 0 500 10 2,808
133400|L % & EE 8,600 0 4,750 10 3,024 1,944
133400 L % X BE 1,500 0 1,090 10 3,240 1,404
133400|L % & R 3,390 0 2,900 10 2,376 1,458
134100 (#&A K ToE 12,220

134100|8A/X wE 2,600 0 1,930 5 2,484 1,566
134100|8AM AN 960 0 540 5 2,160 1,728
134100|8A/X = 7,120 3,920 5 2,592 1,512
134300(71F ToE 6,397

134300|50F wE 602 10 522 2 1,080 1,080 486
134300(71F = A 4,995 4,671 0.3 108 65
134300|50F 1& [ 800 722 0.3 146 113
134400| k< b ¥ 4,046




134400 b~ b BE 1,143 1,143 1 346 216
134400| k< b REAR 2,822 2,732 4 1,944 864
134500 "=~ ~ ¥ 4,919

134500 &' —~ >~ = A 1,674 1,602 0.15 173 97
134500 "=~ ~ = I 3,165 2,929| 0.13 130 97
135100| W A LT A ¥ 150

135100 WA F A =N 30 0 20 2 4,104 3,456
135200|%= ¥ 92

135200|%= ZAN 32 32 2 3,780 3,132
135200|%= ANER L 60 58 2 3,780 1,620
135300|— X ¥ 471

135300 &"— X FOFRL 148 0 138 2 2,700 1,080
135300|— X RS 40 0 40 1 1,458 1,404
136100(AA L & ¥ 41,390

1361001 A L & wE 3,260 0 3,045 5 2,160 432
136100(AA L & =N 30 0 0 0.5

136100|HA L & Ry 4,595 0 4,275 5 1,728 648
136100(AA L & =y 1,220 0 1,080 5 1,566 540
136200| %5 ¥ 5,200

136200|F 5% Jtime 500 0 500 10 1,145
136200|%inE BERE 4,700 0 4,700 10 1,976 1,793
136210( X —7 1 > ¥ 5,600

136210( A =7 1 ~ Jtime 5,600 0 5,600 10 1,836 270
136300|2F ¥ 2,690

136300|8F EiE 2,590 2,190 10 3,888 1,458
136300|2F FE 100 100 10 2,322
136600(7-xa & ¥ 23,805

136600|7z & JuiBE 15,740 0| 15,740 20 2,592 2,160
136600(7-xa & BE 3,545 0 3,545 10 2,754 1,350
136600|7z & Rl 3,420 0 3,420 10 2,398 1,004




138100|& L Wizl ¥ 2,333
138100(& L W /o lF =B 121 0 121 0.1 97 81
138100|& L Wizl wE 1,883 0 1,829 0.2 281 65
138500| L& LE ¥ 1,100
138500| L& LE K% 1,085 0 650 0.2 76 70




AP R RENFET 5 (RI5) B 5 B #

SI5E3ATH (kEER)
LSS ENSEfashE: 454 b
(B ILHEREST)
% ox e MR (k) 1% #YFE RS E]
a—k AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 @EINAN A |HEL 17,726
240700|Z@EIMNA N A | FFRWL 15,986 0| 11,628 10 3,780 540
240700 @EM AN A | EE 1,740 90 1,540 10 4,860 2,160 2,700 1,080
241320|/\#8 HE 3,730
241320(/\#A NS 3,730 2,620 400[ 10 1,836 108 1,944 1,728
2414508 R HE 5,540
241450 R AL 5,540 0 3,600 10 3,564 1,080
241481|7 2R > e 2,780
241481| 7 3R> &I 2,230 0 1,610 5 2,700 1,080
242830|5 LW AT e 7,050
242830|3 LW AT EE 7,050 0 4,250 10 3,564 1,404
246000 LB & HE 8,224
246000|L\bB & & 387 140 247|  0.25 540 270 540 378
246000( LB & &I 318 0 207| 0.3 540 432
246000|L\B & f&hd 1,714 0 1,155| 0.27 648 216
24600016 & (i 969 0 501| 0.24 486 270
246000|L\B & RI& 2,351 0 1,969| 0.25 454 227
24600016 & BE 2,244 0 1,614 0.25 410 216
246000|L\B & =y 241 0 206| 0.25 410 302
247100| 77— 2 X O |#% 383
2471007 — 2 x By | &M 213 17 196] 85 20,520 11,880 21,600 10,800
2471007 — 248y | &4 170 26 145 8.5 10,800 5,940| 16,200 6,480




